Ten and 100 Grid Frames

Ten Frame

1. | have
2. | need

more to make 10.




Using Base 10 Blocks

to Model Computations:
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36 + 64 =100




O0000IO000
OO00000O0000
O000O000O0
O000000000
QOOOOOOOOO)
0000000000
OO00O0O000000
Q000000000
0000000000

OO0O0O0O00000



OO0O00000O0
OO00000O0OO0
O000000O0O
OO0000O00
0000000
OO0O0000O0
OO00O0O00OO0
OO000000
O000000

OO000000

OO00O0O00O0
OO000000
0000000
OO000000
OO000000O
OO00000O0
OO00000O0
0000000

00000 0000000000
00000 0000000000
00000 oooooo

O000O
O000O0O
O000O0

OO000000

OO0O0O0O OO0OOO
O0000O0 O0O0OO0

O

O

O

O

O

O

O

O

000
OO

O00000O0O

0)0)010101010101010
O00O0O00OOO0O
OOOOOOOO

OO
OO
0O
OO
OO
0O

O

O

O000O
O000O0O
O0000



